Research Methodology
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11. A Explanation: A group of fish is called a school and a group of wolves is called a pack.

12.D

13. CExplanation: The square of 2 is 4. But four is called five in this language. So, the correct answer is
C. 4 s

14, B Explanation: The pattern in thé-gluen series - -66, -55, -44, -33, -22, ...... The missing number
should be: 127 -22 = 105

15. A Explanation: Grandfather’s only son — Amit's father Amit's father's daughter — Amit's sister

16. D Hour hand traverses 30" per hour. For 6 hours, 6 x 30 = 180°

17.D 18. B
19.D 20.8
21. A 22.D
23.C 24.C
25.D 26.D
27.D 28.B
29.C 30.C
31.8 32.D
33.B 34.8
35.D 36.B
37.A 38.D
39.B 40.C
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